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The radius and height of the cone are 7 cm and 24 cm respectively. Find the surface area of
the cone (CSA)

(A) 505 cm? “(B) 290 ¢m?

(C) 360 cm? 7 550 cm?

@ mbben pyib 7 Qe1S, 2 wigib 24 Qa.8, erafléh cuaneruiriiL Grawms.
(A) 505 Q.82 (B) 290 Qs.8?
(€) 360 Qa2 (D) 550 G182

In how many years will a sum of Rs. 800 at 10% per annum compounded semi-annually
becomes Rs. 926.10?

(A) 11 years \M 1+ years

(C) 2% years _ (D) 2% years

.800 eremm Ggmenswirearg, 10% <peni(h) aliguile aumLsing Qrard wan i@ ey
sEEEILLIULL T assmen e BHoaln i5Qsm1ms 0;.926.10 s wrmyib?

(A) 1% QU(HL_BIGET B) 15 eumLrasdr

©) 2% auymLiiger (D) 2% euLmiser

Ashok deposited Rs.10,000 in a bank at the rate of 8% per annum. Find the simple interest
for 5 years.

(A) 2,000 ' (B) 40,000
@ 4,000 D) 5,000

2AGers 10,000 munew yam@sE 8% eramp eully afssdd om amduld upsd® Qsuigdermi.
S gamBsatle flen_s@b safl aul gmwsd Srams.

(A) 2,000 © (B) 40,000
(C) 4,000 (D) 5,000

A reduction of 20% in the price of rice enables a person to buy 3.5 kg more rice for ¥ 770. The
original price of rice per kg is

W Z 55 B) T 45
(C) T 37 D) T 65

<ififlllen allene sigen 2 amaw eflmamu efl 20% @ap&siulLTd, @meut 770 MmumiisE srer

euhIs b el 3.5 SlCam =iflfl @idlan auriis piguib earmre, gm HCor =iffulen 2 arenio
eflena eraumen?

A  I5H5 ' (B) T 45
(C) 237 (D) %65
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A cylindrical iron pillar 49 cms high and 6 c¢ms in radius is surmounted by a cone 14 cms

high. The volume of pillar is
(A) 5981 cm? w/ 6072 cm?
(C) 7012 cm? (D) 8154 em?

@M QEburerer e memer eugel giawlar Gonuymbd sby Geerbgererg. o meenden o Wb
49 Qg.15, oy 6 @515, Gogyid s bil@em 2 Wb 14 a8 erafled grenflen sar siema wing)?

(C) 7012 Qg.15° (D) 8154 Qs.8°

6. At the rate of compound interest, a sum of money triples in two years. Then in how many
years it will become 27 times?
(A) 4 years ‘(6 years
(C) 8years (D) 9 years
gl () eully Qumb e Csrmens @ rap G)J@I_.r&},\‘_f;]@) (e WL BISTEDEG. erelled DG erboHena
aumLGHla 27 L RsTEh?
A) 4 umLmser (B) 6 aumLruser
©)  8auwmmser _ - D) S aumLrsar
7. The greatest number of four digits which is divisible by each one of the numbers 12, 18, 21-
and 28 is
(A) 9848 (B) 9864
7 9828 (D) 9636
BTN E, Ble&Hs cTaRT aramn au@GsEGL Curg LSQ’,] wperpCui 12, 18, 21 whmib 28 smélenn Wai@ufiu
GragT
(A) 9848 (B) 9864
(C) 9828 (D) 9636
8. The H.C.F. of two numbers is 16 and their L.C.M. is 160. If one of the numbers is 32, then
the other number is
(A) 48 \M 80
© 9 112
@ ereramtlen BUGLIm Qurg wimiE 16 amg}gﬁlmﬂ Bl Glumg wLmig 160. 32 eratugy @m erewr
araflay oM@ mT(H eremTEnTTEsS,.
(A) 48 ' (B) 80
(C)y 96 (D) 112
DGS/19 4 g



10.

11. .

i 3)

A cone of height 7 cm and base radius 3 cm is carved a from a rectangular block of wood

10 em x 5 cm x 2 em. The percentage of wood wasted is

W 3% (B) 46 %

©)  54% ' D) 66 %

10 Q&5 x 5 Q&5 x 2 Qa5 oere Qararn QFaias agal wililwmsuladmbs 7 Q&8 o wpd
3 Qa8 b Caneam_ b ey arBbg GauutuGdnsg, aalld, assmear sseigb LI sl enL

cliamTmgd.
(A  34% (B) 46 %
©) 54% (D) 66%

Calculate the area of a sector whose radius and are length are 6 cm and 20 cm respectively.
(A) 90 cm? M 60 cm?

(C) 80ecm? - : (D) 120 cm?

<47 6 Glg.15, .afﬂa'mﬂsisr Herd 20 Qg5 AararmBerer aul L Camenrs LGS ullen LiFLienLIs smeor.

(A) 90 Qs : (B) 60 Qs.5"°

(C) 80 Q&85 (D) 120 Q&8

1

1 1 1 1
Vo -J8 V87 16 V65 V54

Find the value of

@ o ® L

3
(o) S| G 5
1 1 1 1

. : 1
A I Y I Y e i Y g g

1
@ o B 3
5

© 1 | | (D)

5 : DGS/19
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12. A cone, a hemisphere and a _cyljnder stand on equal bases and have the same height. Then
the ratio of their volumes is

(A) 2:3:4 \ﬂ(l:2:3
(C) 3:4:5 . D) 1:2:4

&0 DD wHmb Fo 2 wrb Qsram. suby, J@rsGsrand wHmb 2 (mamer yElweupden,

sen|emaysaflen G:‘J;léﬂg_f,Lb eTeHTLIg)

(A) 2:3:4 B) 1:2:3
(€© 3:4:5 D) 1:2:4

13.  The momentum of a body is given by the relation
(A) Force x Distance |
(B) - Mass x Time

(9/ Mass x Velocity

(D) Mass x Acceleration

Qar@ésiul L &werur’ige durmefier 2 Bsb ereamug)
(A) eflens x AsTenaa

(B) Hleom x smevid

(©) fHleom x HewsGausid

D) feop x pHéasDd

14. The excess of pressure inside two soap bubbles of diameters in the ratio 2: 11is
1:2 B) 1:4
€ 2:1 ;! M 4:1

2 : 1 aranp saedled ol L b 2 v w @reir(® Coriys @ulflsefler Wams Sipsssdean &0

A 1:2 B) 1:4
©€ 2:1 (D) 4:1
DGS/19 : 6 p



15.

16.

17.

i

What is the percentage of irﬁpurities present in Blister Copper?
A 5% - - (B) 05%
« v D) 3%
Qariyers sTUURE eTeucuaTa| 886S551D LoME 2 dTeTs)?

A 5% _ B) 05%

©C 2% s _ D) 3%

Most common oxidation state c;f Lanthanides

A)  +2 - \ﬂ( i

€ +4 (D) +2and+4
arpsamen(psaflen Qungeurer 2 sSnGarhp Bl

(A +2 (B) +3

(C) +4 (D) +2 wHmib +4

In sperm acrosome produces hyaluronidase enzyme. The acrosome is modification of
(A) Lysosome
(B) Ribosome

M Golgi apparatus

(D) Mitochondria _

fhg Qaaala anwigCrmElCLav ergub Aprdleaw sr&En 1&GCrmésmnn srsaenL W rmun®
A)  oaGen@smbd |

(B) | yCLTGsmd

(C) Garoens 2 mliy

D) e GLrGaram M

7 ' DGS/19
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18. Find the incorrect statement :

(1)  Carbon sequestration : The simple technique is to preserve trees and plants more
(11) Trees takle up CO2

(iii) They break down CO:zin photosynthesis

(iv) They do not store carbon in new wood.

(A) (@) only ' J (iv) only

(C) (i) only e (D) (i) only
seupnar aursHlwgas Csbols( :

(D) smiuer  geilamwbuBsgsd - @spere eaflu apep  wrRsmer UFTLASSQID, USHSTS
STEUTRISENET QUETTLILIILD HTesm
(1) wyrsar CO:2- @ ar(Hés16 Aameardlanmen
(1) qealGaisamsulen ppad CO2 - .gg 2 @ sdlenmen

(v)  eeupen ygwiiugssafld Cafiiuddama

4 @O wlpo _ B) (Gv) wiEw
(C) (i) w B D) (1) wlPw
19. The proportion of gases consists in the sun is

(A) 7.8 % hydrogen, 92 % helium and 0.2 % other gases
W 92 % hydrogen, 7.8 % helium and 0.2 % other gases
(C) 0.2 % helium, 92 % hydrogen and 7.8 % other gases
(D) 92 % helium, 7.8 % hydrogen and 0.2 % other gases
GMwafla srariubib euryssetlan ojarey
(4)  7.8%@an_ro@ib, 92 % afefluapbd, 0.2 % Rer umyssi@nnd
B) 92 % man_rmenib, 7.8% @e&m@ﬁ, 0.2 % Q)& UM &E&eT
(C) 0.2 % afellwpbd, 92 % evaml_yeaanid, 7.8 % @& cumu&aar

D) 92 % abellwapb, 7.8 % evam_remenbd, 0.2 % Q&7 eumGser

DGS/19 8
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20.

21.

1

(A)
\ﬂf Coal

The major energy resource in India is

Petroleum

(CG)  Natural gas

(D)  Atomic energy

@pduneder wpsfw erilesdl cuertd
(A GQulCrmadwid
B) Hossd

©) Qupms erfeumy

D) oigp Hme

Where are Deciduous Forests located?

(A) Between 50 and 60 degrees north latitudes

W_ Subtropical and temperate areas

(C)  Around the equator

(D)  Area gets less than 50 cm/year rain fall
@eow ST sTRse ahs UGHudd asrréwrﬂu@ﬁaiﬂg)ﬁm?

(A)  50° upse 60° euL =1 s CanBaEnss @enLule

- (0)  feopdaGsm s sp

D)  ampLssng 50 Qo.b amneaurs waplQumob LG

“(B)  giewew Qeuliu wam_egHab WEQaL wairLaGHlein

9
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22: In India Seventh Five Year plan period was from

(A) 1978 -1983
(B) 1979 -1984

49/ 1985 — 1990

1986 — 1991
@EQM mefle arpmeug) @bsren(h L Sreb
(A) 1978 — 1983
(B) 1979 -1984
(C) 1985 — 1990
(D) - 1986 - 1991

23. The focus of tl‘le . plan was on growth with social justice and equality.
(A)  Sixth five year plan
(B) Seventh five year plan
(C) Eighth five year plan

MNmth five year plan

ah& DHsTET RS SL1b eemTeACLTHS snig supsmu F LHMID soésGMS @LOWILTES Harem (H
2 (HeUTSSLILLL ).

A prag gHsTaTHS S
B) gmbd gﬁgﬂ@@g b

©)  elimbghsreanBs S
(D)  géugreug BHsTE(HS LD

24.  The bank of England was established in the year

(A) 1594 s #1694
(C) 1794 . (D) 1894
@rfleonbg) eundl Her_mislul L e
(A) 1594 (B) 1694
© 1794 D) 1894
DGS/19 10 ==



25. IMF was setup with the objectives of assisting the Private Enterprises in developing'

countries by providing them
\(/ Risk capital

(B)  Unrisk capital

(C) Capital

(D) Savings

IMF fgiouanis aien@id BrosEsse 2saib Goréssaidr Sippnoeis@sse
Siefggl 2 56 Qelflpg). '

(A) @uiur@ epeged

(B) @uriur_pp epegead

(C) epasgeanbd
D) Gadliy
26. During the ninth five year plan —_ million people were unemployed.

\M 106 million

(B) 107 million
(C) 109 million
(D) 105 million

@shug,rreugj spstamBh HlLgdlar Gung Wedlwen waser Geuemeulleanto
o @ psant

(A) 106 Beadwen
B) 107 SeoeSwen
(C) 109 BeeSwer

D) 105 Wéedwien

Ll

11 ~ DGS/19
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. Rajva Sabha consists of

%)
=

(A) 220 members
(B) 230 members

(C) 234 members

M 250 members

wrhlarisdr sameuder Awrgs o nilibanmseflen eramreant&ans
A) 220 e pridariser |

B) 230 e guleriser

(C) 234 o minQeniaser

(D) 250 2 gy Geniser

28. The Judges were elected by the people in

M France (B) Canada
(C)  Australia (D) England

BAudser wisame CoibAsHESLLRDL e 6Ths Bl g Weupmrul L g?
(A)  dyremen N (B) . gewLm

C)  uevdCradlum | D) @udarss

29, A Judge of High court shall hold office until the age of
(A) 58 . ' ; (B) 60

\ya( 62 | | (D) 65

2 wikdwansden @ FHLE assman g auerr Lged eudlliLmi?

(A) 58 euwg (B) 60 auwigy
(©) 62 awg (D) 65 auug
DGS/19 12

m



30.

31.

32.

ft

Money Bills can be delayed by the Rajya Sabha only for
(A) 30days (B) 20 days

W 14 days (D) 7 days

58 wCsrsrésmar wrblo oieme arésmen Bl &6 L [Hib STOSILIOSSOMD?
(A) 30 priser < (B) 20 pr_sen
(C) 14 B sér (D) 7 prladr

The status of the chief election commissioner of India equivalent to that of the
(A)  High Court Judge : W Supreme Court Judge
(C)y  Cabinet Minister ) (D) District Judge

Qpdlu senavenio Caise oyenamruiiflen e{g\esﬁqréjaaeh W (&3 @) enamTuITesg)
@) 2w Bhodm FHLBie ®)  sefodmn FHLBE
(C)  sniQern =emwéamss D) wraulL fHudss

Consider the following statements. Fundamental duties :
1. have always been a part of Constitution of India
2. have been added through an amendment

3. are mandatory of all citizens of India
Which of these statements is / are correct

(A) i 1and 3 (B) 1 alone

M 2 alone (D) 2and3 _

Hetrau(Hid & DMisEmar Seuarsdla Q&Tars. oiig LML SLenDEET GTemLg):
1. @ndw réluimenninder gm uGHursGe eriCurgd BEHSS)
2. srflueewiy L dmsssdern epeud Camssliul L g
3. @& @hL GiqnésEnsE auphsiul L 5e0iES WG UTS eeamuTED
Qbg sappsetie sflumeng) erg)?
(A) 1 wpmbd 3 (B) 1wl
C) Z2wl®mo D) 2uwnmb3
13 DGS/19
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33.  What is the expansion of BMR?
(A) Body Mass Rate
M Basal Metabolic Rate
(C) Body Metabolic Ratio

(D) Bone Mass Ratio

BMR srehugﬁ eflfleurésid wimg)?
(A) Body Mass Rate

(B) Basal Metabolic Rate
(C) Body Metabolic Ratio

(D) Bone Mass Ratio

34. In Bentham and Hooker’s classification of plants the number of series and families includéd

in the class monocotyledonae

w/ 7 series and 34 families

(B) 8 series and 36 families
(C) 5 series and 34 families

(D) 17 series and 35 families

Qupsd LHHID ap~ésT aumslium e CorCamsm iyl Gar auglided GLib Guppearar cuflesad
LHOID GHDUBISET eretmentléand

(A) 7 euflenasar wpmbd 34 @HLURIGET

B) 8 mlﬂm&aséir wHHID 36 GHLUBISET

(C) 5 auflengaar wHmib 34 &HbLIRISET

D) 7 auflewssdar wHmid 35 GHDUKSET

DGS/19 14
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35.

36.

37.

The university of Madras was set up in 1857 on the model of the
London University

(B) Punjab University

(C)  Delhi University

(D)  American University

1857 <pb  epar® Qulgrdy UOS@ESESD Spssar  ehs LosmOESRs  wrfli
SEND&ESILLL§?

(A) TG LOSZMLEEPED
(B)  uEpETL LISMOESPED
(C) Gisvedl usmaEsELREWD

D)  SQuissea LLsmOESPED

How many rebels were taken to Tutukudi for perpetual Banishment after the failure of the
1801 Rebellion?

A 71 B) 72

& 13 D) T

1801 =i yaw® yylélGen Caravelse Gevenm Blybsrors Bl sLssLUL aggmen Gur
HN5G15E\q.5G DADPSs Gaetiul L eri?

@A 71 B) 72

() 73 D) 74

Who was the first woman president of Indian National Congress?
(A) Sarojini Naidu
(B) Sucheta Kripalini

\V Annie Besant

(D)  Vijayalakshmi Pandit

@ Caflw srmdredlar (pse GlLIGRT SenevauT wimr?
A)  sCrrgdafl pruy®

B) s Hmpurefled

C)  amaflQueer

(D)  eflgpweo gt Liawrig

15 DGS/19 .
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38. When was Mahmud of Ghazni plundered the holy city of Mathura?

(A) 1001 (B) 1008

.gp( 1018 M) 1024

L&l sevlnmen girmana &edlell (P&LG) 6THS 24,6800 @smmu;lrrqmnfr?

(A) 1001 (B) 1008
© 1018 # D) 1024
39.  Shivaji attacked Shaistakhan with a band of soldiers in his residence at
Poona.
_ (A) 300 (B) 200
© 600 \ga(' 400
QellegLarer yamelad pamilgmbs Gurg &eurg LenL_aSFiraGerm(H

yerrelleyier mlepwhs Gursomuliuememuis srédlanmi
A) 300 (B) 200
(C) 600 (D) 400

40. Tanjore King Serfoji got pension under subsidiary system. How many lakh?

M 4 Lakh (B) 8 Lakh

(C) 2 Lakh (D) 1 Lakh

BehanaLT Syen &Gumsl genem Ll b S Lsdler Sip Gubp @uigL b erdsamaer el gib?

(A) 4 Qalsb B) 3 @ar s
C) 2 Qalsb D) 1@aLlstd
DGS/19 | 16 £



41.

42,

43.

tt

Who led the Mughal forces in the battle of Haldighati against Rana Pratap Singh of Mewar?
(A)  Akbar
(B)  Prince Salim

M Mansingh

(D)  Birbal

Guoeuriler prewrm s Smdlpae erdlyren apradlar Cumiled apseamu jraneisens el HLsdlwie
(A) =sum

B) @ereupst gedid

(C) el

D)  Srure

Who built the “Golden Temple” in Amritsar?
W Guru Ramadhasar

(B) Guru Amardhasar

(C)  Guru Nanak

(D) Guru Angath

<yfirgsredier “QurhCaralic” @Lqmsuﬁ wIrr?
(A)  ©wrTweTET

B)  B®m wisTET

©) eopres

D) 6 =wss

Where is SPIC Fertilizer plant situated?

(A)  Chennai (B) Coimbatore
(C) Thanjavur ‘y Tuticorin
45 2 14 Asrfhanene érréu(g, SIDIDhGIETETS)?
(A) Qoarenen (B) Garwubysgm
©)  seerapm D) g1555@
17 | _ DGS/19
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44. How many world Tamil conferences were conducted in Tamilnadu?

(A) 8 oy (B) 6
© 5 G’ 3

55D HBLESULLL 2 s SUID b [B&eTr orésena?

A 8 . : (B) 6
© 5 (D) 3

45. Where is world’s first partition Museum inaugurated recently?
M Amritsar ~ (B) Lucknow
(C) New Delln (D) Bangaluru

Sa@renouller < rbldssiul L 2 wdlar (pge Afeflenar DimmisT  SLsh 6ThiE A DhEIETeTg)?
A  lrssyen . B) w@w&Carr
(& D)  Quiaen

46.  Which one of the following National Highways connects Delhi and Lucknow?
(A) NH7 ' (B) NH 12

@9’ NH 24 (D) NH 40

Gemeumd Gadlwu DB Eseraasafla yaalamunb ws&Gammei|b GanamriiLigl 6Tg?

(A) NH7 (B)- NH 12
(C) NH 24 (D) NH 40
47. In whose period of ruling, ‘self-respect weddings’ were recognized legally in Tamilnadu? -
(A) K. Kamarajar MC.N. Annadurai
(C) M. Karunanidhi (D) M.G. Ramachandran
wrgenlw L dssresdd,  sfipssdd  swwlluremg  HoLaTmsar  FLLLTAILTE
SmEsflesiulLg?
(A) &. STOTTOT (B) &l.eran. iawramrTgient
©)  qp. smenrmHld _ (D) enb.sd. @umossnhdlyen
DGS/19 ' 18 —



48.

49.

50.

ol.

1

Which is called ‘Red Planet’ of Solar System?

(A) Earth @f Mars

(C)  Jupiter (D) Saturn
@&Mw wem_egHler ‘FHeauliy fysh’ erem jenpssiBeus) mg,,?
(A) yo (B) Qediaurii
(©)  eSlwumpen _ (D) e

Who is the Chairman of Tata sons?

(A) Ratan Tata : \M Natarajan Chandra Sekaran
(C) Nowroji Saklatwala (D) dJohn Mackey

LT @psdlen senavento Qurmitibled o arereur wimr?

A)  psenmLmm _ (B) mLyrgen sndlyCasyen

(€C) QpaCrrgd esgeumen (D) gran wsE

Which Day is observed as ‘National Voters Day’?

(A)  12th January (B) 15t January
(C) 20t January S \M 25t January
eThG wrer GaHlw eursament é)mﬁn&. SasfssiinBamns?

A)  marufl 12 (B) sanaul 15
(©)  semeul 20 (D) gemeurfl 25

Who has won Kalpana Chawla award 20177

(A) Reshma Sharma (B) Ponni
W . Preethi Srinivasan (D) Kamini Kaushal
2017 - b ey DEran saLaT sreuar edl(mlener GlauemauT wWi?
(A)  Greigpwom smor (B) Qumened
(C) 958 Safleumge (D) smblaf Qeareed
19 DGS/19
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52. 63% of 3% 18

Vo 225 B) 2.40

(C) 250 (D) 2.75

3% -6i1 63% o smeT.

A) 225 (B) 2.40
) 250 ' (D) 2.75

53. The radius of a circle is increased by 1%. What is the increase percent in i1ts area?
A 1% ®B) 2%
C) 11% P 2.01%
S Ul LSS @yt 1% 2dsNsdps) aaild @i Uiy aSsfésh 5680 areiceea?
A 1% _ B) 2%
© 11% (D) 2.01%

54, If 3 persons weave 168 shawls in 14 days, how many shawls will 8 persons weave.in 5 days?
A 90 (B) 105
(C) 126 2 W7 160

3 Gui, 168 GueonmLsmer 14 mrmisefld Aniflapert eafld 8 Cur, 5 mmisefld esgsmen

GuarenL_samer GBweuT?
(A 90 (B) 105
€ 126 (D) 160

55. If 2* :@ then find value of x.
A 5 @) 3

© 315 G 503

2" =3/32 arafiéd x -air wi smewr. - -

A 5 B) 3
© 35 D) 5/3
DGS/19 20 =



06.

58.

59.

1)

Find the perimeter of a sector whose radius and central angle are 18 cm and
210° respectively.

(A) 120 cm (B) 110 cm

\p' 102 cm (D) 108 em

<yb 18 Qe.b wppb ewws Caramrd 210° erand Gsram aul L Conan' LGHuar sdmeoTmes
SITEHTS, ' '

&) 120 Qs.8 (B) 110 Qs.8
(©) 102 Qs.8 M) 108 Qs.8

If the volume of the solid sphere 72411 cubic em., find its radius.

(A) 13 cm : (B) 10cm

(© 1lem W7 12cm

e Hao Comersder sar siera| 7241 L 5.Qs.18 arafld g6 <1505 Srewms.

A) 13 Qe (B) 10 Q&S
(C) 11Qs.8 (D) 12 Q&b

The price of a house is decreased from rupees fifteen lakhs to rupees twelve lakhs. Find the
percentage of decrease.

W’ 20% B) 30%

©) 10% (D) 40%

e Sgen efleve, 15 Qaolsb muridd @mba, 12 ol mumnurss: Gopiss dalléd Gonbs

556550 snar. .
A)  20% (B) 30%
©  10% D) 40 %

1.6 expressed as a fraction is
16
10

e g (D)

1.6 eranigy lemneumuUaIaTeINMIET eThg Neang)&@s sLon?

(A4) (B)

ol |5

16 16

(A) 15 (B) Fy

5 4

© 3 D) s
21 ' | DGS/19
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60. - Pick out the incorrect pair from the following.

(A)  Generator rule
(B)  Law of conservation of charges

(C)  Law of conservation of energy

y Voltage law

- Fleming’s right hand rule

Kirchoff's I law

— Lenz's law

= Coulomb’s law

Gl Gimeu (eu el HMIGT H6uMTET Qe 6T 6Tens T EO0T &

A) . Bemaflund 94
“(B)  Aarg L =flefanemwn ol
C)  npe siflefeanaw ehs

D)  Henen(pss 6l

- Sberfdlen cueg s 1Sl
- ﬁrﬂé:&:ou (ylr&;éj Gﬂg :
- Geanae 6l

- @b a94)

61. A fruit seller bought 8 boxes of grapes at Rs.150 each. One box was damaged. He sold the -
remaining boxes at Rs.190 each. Find the profit / loss percentage. '

(A)  Profit 130 % -

y Profit 10.83 %

(C) Loss 130%

(D) Loss 10.83 %

em up Qwrurfl 8 Guiy, HAymlassaer, g Wulg. @.150 aSsd eummiSlenmi. e g Quiiy
Arriens oiwpd ABSpg. Bsepdrar Culigsmen g Quig m.190 eramm elenaéeE b,

@eru / B L s5615LD sTewT.
(A)  ermub 130 %

(B)  emub 10.83 %

(©) sk 130%

(D) pBrLb10.83%

DGS/19 22
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62.

63.

"64.

T

A sum of Rs. 1,300 is divided between A, B, C and D, such that A’s share= B’s share
B’s share (C’s share

CO's share _ 2 /T'hen A’s share 1s

D’s share™ 3 .
(A) Rs. 140 ~c( Rs. 160
(C) Rs. 240 (D) Rs. 320

em. 1,300 eranm Qarensanw A; B, C, D erenm prdveumae @enlCw Spssen_eurm 9fsstiu@ansg.

Aarubg_ Barumg = Cearuhe _ 2 el A-am Ui
Barumg Cearumg = Denumg 3

(A)  em 140 (B) e 160

(©) e 240 (D) em. 320

Which of the following fraction are the largest? -

7 13
A By ==
8 B
31 . 63
C — oy~ =
© ' D

Gereusid Genaniisaie era) OaIGLMWLE?

7 13

@& = (B} ¢
31 63
< o L

The L.C.M. of two numbers is 12 times their H.C.F. The sum of H.C.F. and L.C.M. is 403.

If one number is 93, find the other

A) 120 \{124
: D) 13

(C) 128 4

B aanseflean &8y wHuy cuellm aramsefiear BUGLMm wELber 12 wLksTEb. @ aarseier

(A) 120 (B) 124
© 128 N D) 134

B&8m AUy wpmd BURUEE il sl (& Qsrena 403. e e 93 eresiled H@MT(H ereiwT cramen?

23 DGS/19
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65. The unit of magnetic induction,
(A) Nm™ M NA 'm™
(C)  NA*m™! (D)  Am™
&MH&H HewT_edlem 24, |
(A)  Nm'' : | (B) NA'm’
(© NA®m’ | (D) Am®
66. Stretched rubber chord is 'an example for - _
(A) Kinetic energy @( Potential energy
(C) Thermal energy | (D) Electric energy
Ewssuul L guur glewr () GTﬁ‘I_T‘)@I aHEHEST_H .
@) Quss appd (B)  floa pppd
(C) Geuliu Hmev (D) Wlem yhmed
67.  The hybridisation in IF7 molecule is
@A Sp3 : (B) SP3d2
(C) SP:d W spia
IF: apevisam flés o drar @anésariLy
(A) SPs " (B) SP3dz
(C) Spkid : (D) SP3d?
68.  The geometry of the complex ion [Fe(CN),]* is
(A) Tetrahedral . - (B) Square planar
M Octahedral (D) Triangular
[Fe(CN)G]4_ TGN BHEnenTey < wierufler e
A mremapd : (B) ssimsend
(C)  aamopd (D) Wa&Caiewrid
DGS/19 ' 24
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 69.

70.

1

Match the percentage of human Leucocytes

(a)
(b)
(©)
(d)

(©)
D)

(
v
B)

Neutrophils 1. 1-4%
Eosinophils 2. 20-- 30 %
Lymphocytes 3. 0.5- 3.0%
Monocytes 4. 60—-70%

a) (b) (@) (d)
4

3 2 1
3 1 4 2
2 4 1
1 2 3

wails Q@{Jmm@)]éaaseﬂah ssaigsbens QUINHESS :

(a)
(b)
(©
(d)

Bt CrrGser L 1-4%
@Cwrdlems Qa6 2. 20-30%
SlbGurems {Had 3. 05-30%
GunGeanrens_(H&erT 4. 60-70%

(@ (b) (© (d)

(&)
B)
©)
D)

— b
[ S RS A v
w.r—d [P v
R

The minerals which help in cardiac functions

(B)
(©)
(D)

Potassium and Calecium
Magnesium and Calcium
Zinc and Iron

Calcium and Phosphorus

Bsw Qusshseila gienar Gawwd safllwrsdr

(A)
(B)
(©)
D)

QurlLrflub whyb sTeHwd
@usefélub wHmb srafwud
SISSHIHD DHMILD @) (HLdL
STe&luD LDﬁ)QJLb UG LI TG

26
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71. Ifyou placé your hand underneath but not touching a kettle of hot water you mainly feel the
presence of heat from :

(A) Conduction

Convectlon

W Radiation

(D) Internal energy

G BT 2 6er ung@r,rg,ﬁew g led Asenen AFTL_moed esamw meud@d Cumg), deuliugans 2 awry
SITTeRTLD

A)  Geudu s_gse
B) Qe sewend

(C)  Qeulu sdrelisa

D) =8 HDD

T2. Which of the following is én example of mid-latitude desert? '
(A) Sahara desert
(B)  Arabian desert

(C) Thar desert

M Patagonian desert

ECip QarRasiiulerer unamesarmsafiay WL i’ g Crens LTameaueaID 6rg?

(A)  ssmpm uTEnEEIESLD
B) Crwen uremaeueDd
(C) s uNeneveuEID

(D) QuiLGsrallwen urenaeued

DGS/19 . 26
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~

)

3.

Match the types from List - A with their occupations from List - B

List A . List B
(Types) ' (Occupations)
(a) Primary . 1. Research
(b) Secondary 2 Telecommunications
(¢) Tertiary o 3. Hunting
(d) Quaternary 4 Transforming clothing from cotton

Codes :

(a) (b) (c) (d)

A 3 2 4 1
¢mf3 4 2 1
€ 4 3 1 2
D)y 4 i 2 3

uligwe A g uligue B m_d:-'r_Glurr@g,;f,l, &Cy Qar@asiiul_Herer GHluHsmens Qsran® sfwimer
aflanevw CapESH |

g wied A : uligweé B

(cuensgar) ; (Qgmflesar)
(@) @pse Hlavaws Gsmfla 1. yrmisd
(b) @rawLmb flewaws QgmPer 2.  CAsranegbgm_y
()  epenpmb Hlenevs Ggmfled 3. Geul_anLwrhige
(d) premsmd flewas Gsmde 4. umsSHuledmng et sumflgsea
@O Hser

(a) (b) (c) (d)
(A) 3 2 4 1
B) 3 4 2 1
(O 4 5 1 2
D) 4 1 2 3
27 DGS/19
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74.

defines a Central Bank”, as a bank which controls credit”.

M H.A. Shaw

(B) Adam Smith

(C) Hawtrey

(D) Samuelson

“erow euindl BT e Slmans sLOUUGSSID @(h SiWIUNGD” — eran eow aumidlés B)essemiD
QU@GSFeUT '

(A)  HA agr

(B) b evifls

(C)  enm Gy

D)  srpGeudsa -

-

5. GATT was set up in 1948 in
(A) England

(B) = Japan
(C) Russia
Geneva

1948 yib sypar(® GATT =ienwiiy eriu@ gHuBSsuuTLg?
(A) @rforbg

(B) soUILImeT
(C)  peywm
D) Ggefleur
76. In 1990 unemployment was . million.
M 28 - (B) 52
(C) 48 (D) 72
1990 é Cavena eumiiiLpCprfen eramanllGems : WBldeSlwin
(A) 28 ' (B) 52
(© 48 D) 72
DGS/19 28 =



79. Who pres'ides over the méetings of Rajya Sabha?

(A)  Speaker

M Vice president
(C) President

(D)  Prime minister

rhleonisareney g L his@hkhE S0 STEH BLSgLeuT
A)  surpTwET

B) s GigLITESS@OEUT

©)  @yuragsmeait

M)  Qgswr

78.  Which Article permits separate constitution for the state of Jammu and Kashmir?
(A)  Article 360

(B)  Article 390

5 - M Article 370

(D)  Article 152

Rdp sTEyBT IHlW eThg eflFuden Lig seafl SiFfluameninlieny GupmicTerg)?

A) 94 360
(B) &4 390
© 98 370
D) &0 152

29 3 DGS/19
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79.  The book “The spirit of Laws” was published by

(A) Bentham

\M Montesquieu

(C) Jean Bodin

(D) Aristotle

‘gL useflan e w9 arenp Hrene er(pduiaui

(A) GQuengmb

(B)  wra@Lavdly,
(C) e Cumge |

D) eflevnliiged

80.  Who said “Judges” elected by people at large is vgithout exception the worst?
w Laski. | |
(B) Garner |
(C)  Finer

(D) David Easten

BSHudser ssarTed Gg,ﬁ;b@g,@&.a;u LG aperp Gorsirang) ard safluei
(A) orendl
B) arrent
(C)  euenrm

D) GLef rrevLebr

1
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81. Which of the following is a feature of the parliamentary system?
(A)  The president is the real executive
(B) Individual responsibility

M Collective responsibility

(D) - Powerful Judiciary

%g; QU(IHEUGITGU DMIGIT 6T&| LIMTT(EHLOGID < &MHhIS (Lpenm uldlesr @Qqu SHEENLD
(A) BRWTss s Q_Wmmy e Hlieuna Saneveur ,euT

(B) sefluGurmiiy

(C) sl (huCurguy

(D)  eaalepwiren BE&z0D

82. In the Parliamentary form of government the members of the council of ministers are

collectively responsible to
(A) The Head of the state

(B) The Chairman of the upper House and the spe'aker of the lower House

\@/ The Parliament

(D)  The Prime Minister

LTI T(EHLOETD SrFmTRgE  apapulley  ewbFsteeuldan e mubertadT  wWMEEG — sal (U

QUM WiaisET

A)  erdler senaveu(HEE

(B). Gueemeiulen s wHmitd Sipenauuller sunprrma;@é;@ _
©  umrEpweansEnE

D) G5 SBWFEFHESG

Ll

31 ' DGS/19
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83. In Glycolysis Fructose 1, 6 bis — phosphate is cleaved by a enzyme to two molecules of
3C compounds — dihydroxyacetone phosphate and glyceraldehyde 3-phosphate. Name that

enzyme
(A) Hexokinase (B) Enolase
(C)  Pyruvickinase W Aldolase

Havarsradflev L Hlaouid QraCLrev, 1, 6, WeavurevCul Gprdeow Lwau®ss, 3C @ream®
ppeésan el enapl rsedl <n&lGLmer LuravCuUL wHmIb dererragaman® - 3 - urepGULLTS WIMID
SIBHE LWL b Qg erenen?

(A) OQansGsrasCearan (B) aCeamGovav
(€)  eumaismsGaren D)  =HGLrGean

84.  Match the List I with List IT and choose the correct option.
List I List I1

(a) Treaty of Madras 1 1763
(b) Treaty of Paris 2. 1769
(¢) Treaty of Mangalore 3. 1792
(d) Treaty of Srirangapatanam 4. 1784

(a) (b) (c) (d)

(A) 4 3 2 1
B) 1 2 3 4

N 1 4 3
») 3 4 1 2

i gquwiéd I, tin’guaed IT e Qu.rr@gg,] #flunarens Gsih0ls[HEsea b

g wied I : uagwe IT
(a) Glgrev 2 L 6bLig&ens 1. 1763
(b) umflen 2L eSS 2. 1769
()  LDREISEHT 2 L6l &Hend 3. 1792
(d)  whpiisliu gend o 1 6iLig dana 4. 1784
(a) (b) (c) (d)
(A) 4 3 2 - 1
B) 1 2 3 4
© 2 1 4 3
D) 3 1 1 2
DGS/19 : 32 =



85.

86.

il

Guru Ram Singh'’s disciples were called as

M Kookas : (B) Namdharis
(C)  Sandelas . (D) Panis

& TTbEndlen FLTaHET creueumn) SenpSSLILIL L 6T?

A) Gsamen (B)  mmbgmrilan

(C)  smamGLevit _ ' D) wurenflev

Khonds were the tribal people of

(A)  Bihar - MA Orissa

(C) Bengal : (D) Assam

Caram (et aThg QL Senss S LLPBIGL. @6 0&s6T
&)  Serr | - B) s

(C). GURBIGTETLD (D)  seveavmd

Highest peak in South Indian Peninsula

(A)  Palaghat pass ; @/The-Anaimudi
(C)  Doddabetta - (D) . Karle
Qe bl SLsnLgd e 1ls o Th& Loenevd Slsiid STGTLIGT(GLD.
(A)  ureésT () seoTeum] (B) @c{,e‘mm@q_
C)  Gsmic Quiim ' _ (D)  srrGe
33 DGS/19
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88. Identify the incorrect pair

(A) TIbn Battuta — . Morocco
(B)  Nicolo de conti — Venice
: W Abdur Razzak - Arabia
(D) Domingo Paes - Portugal
seunprar dummsEsssE Se (Hibly.
(A @uer ugisT - Quryr&Gar
B) HaCarGamiy Camreng. — Geuaflen
(C) SV TETE - Dﬂ@l}'tﬁ]u_lrr
D) GCumArGasr Lwev - CunisassD
89.  Match the following :
(a) Diwan -1- Wizarat 1. Incharge of Army
(b) Diwan-i- Ariz 2. In charge of Revenue and Finance
(¢) Diwan -1i- Rasalat 3.  Minister for Communications
(d) Diwan -1 - Insha 4.  Foreign Minister
(a) (b) (c) (d)
@ 1 2 3 4
w2 1 4 3
(C) 3 4 1 2
(D) 4 3 2 1
Spsean_cupenn GuTmHsss
(a) Sleuren-@-allemrs f. UL 55I6pM
(b)  Seunen-@)-siflev 2. aumeumls wpmid FIS Hlreursid
(@) Heuren-E)-reves 3. s QgTLTSSMD
() Harer-@-Ganagr 4. SwPDASH®D
(a) (b) (c) (d)
A 1 2 3 4
(B) 2 1 4 3
© 3 4 1 2
D) 4 3 2 1
DGS/19 34
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90.

91.

92.

93.

i}

Which of the following hills connect eastern and western Ghats?

(A)  Aravalli (B) Vindhya
W Nilgiri - D) Satpura

SlereumeuanelpmiaT £pé@ whmib Cope waas Qg iéflsmar Gamamssid GL b oTg?
A) gyradd (B)  eflihdlu ene

(C)  Sedif (D)  engugT

Which one from the following Southern railway divisions was disestablished?
(A) Palakkad x7” Coimbatore

(C)  Tiruchirappalli (D) Salem

ﬂ]a&Tm@Lb AsneE @ruilaGe Garl L risafld samadsliu L g erg)?

(A)  uressT(H _ (B) Camubuggnt

©  SHmefyriiered (D) Gsaoid

The first Non-citizen awarded Bharata Ratna was

(A)  Mother Teresa ¥ Khan Abdul Ghaffar Khan
(C) Nelson Mandela (D) Aruna Asaf Ali

unys ghem el (g QuUDD (PSD EBE (&g oSHeT SiamSeu

A)  enemen Ggram _ (B) sran wilgied sLuT Srer

(C) Qpaear wawmGLom (D)  SimETT 81 (60
Pichavaram has type of forest.

(A) wet evergreen forest (B) moist deciduous forest

M mahgrove forest (D) subalpine forest

Gésmeuysdled QUG &T(NSHET 2_aTere

(A)  mpausew sT@HSET (B)  myoner Ganew St si@aar
(C) sz BossTlHse (D)  eam@mmei sr{Haser

35 ' DGS/19
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94. Which is the smallest country in SAARC?

(A)  Srilanka .@/ Maldives

(C)  Bhutan (D) Nepal

gnird el @b unp Wsssdu BT e7g)?
A  Qeomms (B) wresdey

©)  yrmen ; (D)  Cpumerd

95. Which country offers $1 million aid to Tonga that was devasted by cyclone Gita?

Saudi Arabia (B) Pakistan
M India (D) Indonesia

@g)rreuaﬂ E55HT @uugﬂme‘u shH\ 55 Gl_rrrs.la;rrai][o@ @ Wlevedlwier |_rrm.>cam|;r Qarsg 2 seflw Br{H

ergl?
A  seud SGrumr (B) urdlevgmen
©)  @psur | D) @pCsrGadlum

96. Which is ‘The State Bird of Tamilnadu’?

(A) Crow ; : (B) Peacock
M Emerald dove (D) Sparrow

sUOIpHTger kel upamel arg)?

(A smaw (B) wulea
' (C)  wrsgyoT D) A paeGmed
DGS/19 36 =
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97.

98.

99.

100.

L}

Where is the headquarter of world bank?
(A) New York, USA (B) London, England
M Washington, USA (D) Rome, Italy

9 Q& eUmIEUIE SENENLDIISLD 6THIGHETETE)?
A)  Bluywnis, 2 Quoflasr (B) wamar, @udarbg
(C)  eunaflmen, oQuwilssr (D) Cymd, @ssmed

When had been Electronic voting machines introduced in India?

(A) 1996 G 1998

(€C) 2000 _ (D) 2004

@pdlureile eriGung Wenangn) eund@l Ldla| erhilrmiser SflPsLUBSSIULLar?
(A) 1996 (B) 1998
(€) 2000 (D) 2004

Which state is called the Sugar Bowl of India?
(A) Kerala (B) Tamilnadu
W Uttar Pradesh (D) Punjab

‘Gpswreilen sissam s Samand’ eran Henp&slILI(ID wrHled arg?
(A) Garenm ' B) sBLETEH
(C) 25875 9Gaabd (D)  wEpsm

Who among the following became the first women IAS officer of India?
(A)  Aruna Sundararajan \M Anna Rajam Malhotra
(C)  Shantha Sheela Nair (D) Mugdha Sinha

QarRéssiul L cursefldy &.65.6reh flarflwres s @HHw Cuemroemf] wiri?
(A)  imewT sHSITTMEn (B)  jenen grsgid weGammsiym
(C)  smpamaSer BT (D) s Herant
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